Bull. Aust. Math. Soc. 93 (2016), 92–98 doi:10.1017/S0004972715000787

# ON UNICITY OF MEROMORPHIC SOLUTIONS TO DIFFERENCE EQUATIONS OF MALMQUIST TYPE

# FENG LÜ, QI HAN<sup>™</sup> and WEIRAN LÜ

(Received 23 December 2014; accepted 23 May 2015; first published online 5 August 2015)

Dedicated to Professor Hongxun Yi on the occasion of his 72nd birthday

#### Abstract

In this note, we prove a uniqueness theorem for finite-order meromorphic solutions to a class of difference equations of Malmquist type. Such solutions f are uniquely determined by their poles and the zeros of  $f - e_i$  (counting multiplicities) for two finite complex numbers  $e_1 \neq e_2$ .

2010 *Mathematics subject classification*: primary 30D35; secondary 34M05, 39A10, 39B32. *Keywords and phrases*: difference equation, meromorphic solution, Nevanlinna theory, unicity.

### 1. Introduction and main result

We study finite-order meromorphic solutions f to the difference equation

$$\sum_{j=1}^{n} a_j f(z+c_j) = \frac{P(f)}{Q(f)} = \frac{b_p f^p + b_{p-1} f^{p-1} + \dots + b_1 f + b_0}{d_q f^q + d_{q-1} f^{q-1} + \dots + d_1 f + d_0} = \frac{\sum_{k=0}^{p} b_k f^k}{\sum_{l=0}^{q} d_l f^l}$$
(1.1)

of Malmquist type. Here,  $a_j (\neq 0)$ ,  $b_k$ ,  $d_l$  are small functions of f,  $c_j (\neq 0)$  are pairwise distinct constants, P and Q are coprime polynomials and n, p, q are integers such that  $p \leq q = n$ . In view of Heittokangas *et al.* [6, Proposition 8 and Theorem 12], the assumption  $p \leq q = n$  is natural. We shall give several examples below to show that our hypotheses are best possible.

Some qualitative properties of meromorphic solutions to (1.1) are known (see for example [6, 11, 15] and the references therein). In this note, we investigate how a finite-order meromorphic solution f to (1.1) is uniquely determined by its poles and the zeros of  $f - e_j$  for two distinct, finite complex numbers  $e_1, e_2$ . This is motivated by the famous *Nevanlinna five-value theorem* and its improvements when one considers meromorphic solutions to ordinary and partial differential equations.

The work of the first and third authors was supported by the Natural Science Foundation of Shandong Province—Youth Fund Project: ZR2012AQ021 and the Fundamental Research Funds for the Central Universities: 15CX08011A, PR China.

<sup>© 2015</sup> Australian Mathematical Publishing Association Inc. 0004-9727/2015 \$16.00

For example, Brosch [1] proved that a meromorphic solution to the Malmquist-type ordinary differential equation  $(w')^n = \sum_{j=0}^{2n} a_j w^j$  in the complex plane  $\mathbb{C}$  is uniquely determined by three values. For Malmquist-type partial differential equations, we refer the reader to, for instance, Hu and Li [7, 8] as well as some earlier work of Tu [13], Hu and Yang [9, 10] and Gao [3].

Define  $I(z, f) := \sum_{j=1}^{n} a_j f(z + c_j)$  and H(z, f) := Q(f)I(z, f) - P(f). Then (1.1) can be rewritten as

$$H(z, f) = 0.$$
 (1.2)

By applying the main ideas in [1], we will prove the following result for difference equations.

**THEOREM** 1.1. Let f be a finite-order transcendental meromorphic solution of (1.2) and let  $e_1, e_2$  be two distinct finite numbers such that  $H(z, e_1), H(z, e_2) \neq 0$ . If f and another meromorphic function g share the values  $e_1, e_2$  and  $\infty$  CM, then f = g.

We assume familiarity with the basics of Nevanlinna theory of meromorphic functions in  $\mathbb{C}$ , such as the *first* and *second* main theorems and the usual notation such as the *characteristic function* T(r, f), the *proximity function* m(r, f) and the *counting function* N(r, f). We denote by S(r, f) any quantity satisfying S(r, f) = o(T(r, f)) as  $r \to \infty$ , except possibly on a set of finite logarithmic measure, not necessarily the same at each occurrence. Let a, f, g be meromorphic functions on  $\mathbb{C}$ . We say that a is a small function of f whenever T(r, a) = S(r, f). Given a, a small function of both f and g or some value in  $\mathbb{C} \cup \{\infty\}$ , we say that f and g share a CM if f - a and g - a have the same zeros with the same multiplicities. Finally, the order of f,  $\rho(f)$ , is the quantity

$$\rho(f) := \limsup_{r \to +\infty} \frac{\log T(r, f)}{\log r}$$

**EXAMPLE 1.2.** Below, we provide some examples that are related to the assumptions of Theorem 1.1, which shows that our result is best possible.

(a) The number of shared values cannot be reduced. For example, the function  $f(z) = (e^{2\pi i z} + z + 1)^{-1}$  is a solution of the difference equation

$$H(z, f) = [f^{2}(z) - 1][f(z + 1) + f(z - 1)] + 2f(z) = 0,$$

while f and  $g(z) = e^{2\pi i z} + z + 1$  share the values 1, -1 CM with H(z, 1) = 2 and H(z, -1) = -2.

(b) The condition  $H(z, e_1), H(z, e_2) \neq 0$  cannot be dropped. For example, the function  $f(z) = \tan z$  is a solution of the difference equation

$$H(z, f) = [f^{2}(z) - 1] \left[ f\left(z + \frac{\pi}{4}\right) + f\left(z - \frac{\pi}{4}\right) \right] + 4f(z) = 0,$$

and f and  $g(z) = -\tan z$  share the values  $\pm i$  (as Picard exceptional values) and  $\infty$ CM with  $H(z, \pm i) = 0$ . (c) The condition  $p \le q$  cannot be extended to include p > q. For example, the function  $f(z) = e^z$  is a solution of the difference equation

$$H(z, f) = [f(z+1) + f(z-1)] - (e + e^{-1})f(z) = 0,$$

and f and  $g(z) = e^{-z}$  share the values  $\pm 1$  and  $\infty$  CM with  $H(z, 1) = 2 - e - e^{-1}$ and  $H(z, -1) = e + e^{-1} - 2$ .

(d) The condition  $(p \le) q = n$  cannot be weakened to  $(p \le) q \le n$ . Notice that we only need to eliminate the possibility q < n. For example,  $f(z) = e^z + 1$  satisfies the following difference equation

$$H(z, f) = [f(z+1) - e^2 f(z-1)] + (e^2 - 1) = 0,$$

and f and  $g(z) = e^{-z} + 1$  share 0, 2 and  $\infty$  CM with  $H(z, 0) = e^2 - 1$  and  $H(z, 2) = 1 - e^2$ .

The assumption that f is of finite order presents different issues. For example, the function  $f(z) = e^{\sin z}$  of infinite order is a solution of the difference equation  $f(z + \pi)f(z) = 1$ , and f and  $g(z) = e^{2-\sin z}$  share the values  $0, e, \infty$  CM. The hyper-order

$$\rho_2(f) := \limsup_{r \to +\infty} \frac{\log \log T(r, f)}{\log r}$$

of *f* is 1. There is an extension of the difference analogue of the lemma on the logarithmic derivative for functions with  $\rho_2(f) < 1$  (see [5]) and it seems that the hypotheses of our Theorem 1.1 may be weakened to include such functions. However, the finite-order assumption on *f* is essential in our proof (see the discussions following equation (2.4)) and we are not able to see whether or not our result holds for functions with small hyper-order of growth.

## 2. Proof of theorem 1.1

In this section, we shall prove Theorem 1.1. We use the following results, the first of which is Theorem 3.2 of Halburd and Korhonen [4] or Theorem 2.4 of Laine and Yang [12].

**LEMMA** 2.1. Let f(z) be a transcendental meromorphic solution of finite order to the difference equation (1.2). If  $H(z, a) \neq 0$  for a small function a of f, then

$$m\left(r,\frac{1}{f-a}\right) = S(r,f).$$
(2.1)

LEMMA 2.2. If f is a transcendental meromorphic solution of finite order to (1.2), then

$$m(r, f) = S(r, f).$$
 (2.2)

**PROOF.** By Laine and Yang [12, Theorem 2.3],

m(r, I(z, f)) = S(r, f),

where we recall that  $I(z, f) = \sum_{j=1}^{n} a_j f(z + c_j)$ . On the other hand, since  $p \le q = n$ ,

$$T(r,I(z,f)) = T\left(r,\frac{P(f)}{Q(f)}\right) = nT(r,f) + S(r,f).$$

By Chiang and Feng [2, Theorem 2.2], it follows that

$$nN(r, f) \ge N(r, I(z, f)) + S(r, f) = T(r, I(z, f)) + S(r, f) = nT(r, f) + S(r, f).$$

Thus, we see that T(r, f) = N(r, f) + S(r, f), that is, m(r, f) = S(r, f).

**PROOF OF THEOREM 1.1.** Since f and g share  $e_1, e_2$  and  $\infty$  CM, Nevanlinna's second main theorem gives

$$T(r, f) \le N(r, f) + N\left(r, \frac{1}{f - e_1}\right) + N\left(r, \frac{1}{f - e_2}\right) + S(r, f)$$
  
=  $N(r, g) + N\left(r, \frac{1}{g - e_1}\right) + N\left(r, \frac{1}{g - e_2}\right) + S(r, f) \le 3T(r, g) + S(r, f).$ 

Similarly, we have  $T(r,g) \le 3T(r,f) + S(r,g)$ . Thus,  $\rho(g) = \rho(f) < \infty$  and

$$T(r, f) = T(r, g) + S(r, f).$$

This follows from a result of Brosch [1]; see, for example, Yang and Yi [14, Section 5.5.2].

In addition, there exist two polynomials  $\alpha, \beta$  such that

$$\frac{f-e_1}{g-e_1} = e^{\alpha}$$
 and  $\frac{f-e_2}{g-e_2} = e^{\beta}$ . (2.3)

Thus,  $T(r, e^{\alpha}) \le T(r, f) + T(r, g) + O(1) \le 2T(r, f) + S(r, f)$  and  $T(r, e^{\beta}) \le 2T(r, f) + S(r, f)$ .

When  $e^{\alpha} = 1$ ,  $e^{\beta} = 1$ , or  $e^{\alpha - \beta} = 1$ , it is easy to see that f = g. We now suppose that  $f \neq g$  and aim to deduce a contradiction. Define  $\gamma := \beta - \alpha$ . By (2.3),

$$f = e_1 + (e_2 - e_1)\frac{e^{\beta} - 1}{e^{\gamma} - 1}.$$
 (2.4)

Therefore,  $T(r, f) \le T(r, e^{\alpha}) + T(r, e^{\beta}) + S(r, f)$ , so that  $\max\{\rho(e^{\alpha}), \rho(e^{\beta})\} = \rho(f)$ . Substituting the representation of f from (2.4) into (1.2) leads to

$$\begin{split} \sum_{k=0}^{p} b_{k} \bigg[ e_{1} + (e_{2} - e_{1}) \frac{e^{\beta(z)} - 1}{e^{\gamma(z)} - 1} \bigg]^{k} \\ &= \bigg\{ \sum_{j=1}^{n} a_{j} \bigg[ e_{1} + (e_{2} - e_{1}) \frac{e^{\beta(z+c_{j})} - 1}{e^{\gamma(z+c_{j})} - 1} \bigg] \bigg\} \bigg\{ \sum_{l=0}^{q} d_{l} \bigg[ e_{1} + (e_{2} - e_{1}) \frac{e^{\beta(z)} - 1}{e^{\gamma(z)} - 1} \bigg]^{l} \bigg\}. \end{split}$$

Write  $e^{\beta(z+c_j)} = e^{\beta(z)+s_j(z)}$  and  $e^{\gamma(z+c_j)} = e^{\gamma(z)+t_j(z)}$ . Here,  $s_j$  and  $t_j$  are polynomials of degrees at most deg $\beta - 1$  and deg  $\gamma - 1$ , respectively. Since  $p \le q = n$ , we can rewrite the above equation as

$$\sum_{\mu=0}^{p} \sum_{\nu=0}^{2n} a_{\mu,\nu} e^{\mu\beta+\nu\gamma} = \sum_{\mu=0}^{n+1} \sum_{\nu=0}^{2n} b_{\mu,\nu} e^{\mu\beta+\nu\gamma},$$

where  $a_{\mu,\nu}$ ,  $b_{\mu,\nu}$  are either 0 or polynomials in  $a_j$ ,  $b_k$ ,  $d_l$  and  $e^{s_j}$ ,  $e^{t_j}$  whose coefficients are polynomials in  $e_1$ ,  $e_2$ . By combining terms, this yields

$$\sum_{\mu=0}^{n+1}\sum_{\nu=0}^{2n}A_{\mu,\nu}\,e^{\mu\beta+\nu\gamma}=0,$$

where  $A_{\mu,\nu}$  are completely determined by  $a_{\mu,\nu}$ ,  $b_{\mu,\nu}$  or 0. In particular, we observe that

$$A_{0,2n} = \left(\prod_{m=1}^{n} e^{t_m}\right) \left[ \left(\sum_{j=1}^{n} a_j e_1\right) \left(\sum_{l=0}^{q} d_l e_1^l\right) - \left(\sum_{k=0}^{p} b_k e_1^k\right) \right] = \left(\prod_{j=1}^{n} e^{t_j}\right) H(z, e_1) \neq 0,$$
  

$$A_{0,0} = \left(\sum_{j=1}^{n} a_j e_2\right) \left(\sum_{l=0}^{q} d_l e_2^l\right) - \left(\sum_{k=0}^{p} b_k e_2^k\right) = H(z, e_2) \neq 0.$$
(2.5)

Next, we will prove that

$$\deg \beta = \deg \gamma = \deg(\mu\beta + \nu\gamma) = \deg(\mu\beta - \nu\gamma)$$
(2.6)

for any  $\mu, \nu \ge 0$  such that  $(\mu, \nu) \ne (0, 0)$ .

First, we claim that, for an integer  $d \ge 0$ ,

$$\deg \alpha = \deg \beta = \deg \gamma = d. \tag{2.7}$$

Suppose that  $e^{\beta} - 1$  and  $e^{\gamma} - 1$  have a largest common factor  $\xi$ , so that  $e^{\beta} - 1 = \xi\beta_1$  and  $e^{\gamma} - 1 = \xi\gamma_1$ , where  $\xi, \beta_1, \gamma_1$  are entire functions such that  $\beta_1, \gamma_1$  have no common nonconstant factor. From (2.4),  $f = e_1 + (e_2 - e_1)\beta_1\gamma_1^{-1}$  and, from (2.1) and (2.2),

$$T(r, f) = m\left(r, \frac{1}{f - e_1}\right) + N\left(r, \frac{1}{f - e_1}\right) + O(1) = N\left(r, \frac{1}{\beta_1}\right) + S(r, f),$$
$$T(r, f) = m(r, f) + N(r, f) + O(1) = N\left(r, \frac{1}{\gamma_1}\right) + S(r, f).$$

Furthermore,

$$T(r, e^{\beta}) = N\left(r, \frac{1}{e^{\beta} - 1}\right) + S(r, f) = N\left(r, \frac{1}{\beta_1}\right) + N\left(r, \frac{1}{\xi}\right) + S(r, f)$$
$$= T(r, f) + N\left(r, \frac{1}{\xi}\right) + S(r, f)$$

and

$$\begin{split} T(r,e^{\gamma}) &= N\!\left(r,\frac{1}{e^{\gamma}-1}\right) + S(r,f) = N\!\left(r,\frac{1}{\gamma_1}\right) + N\!\left(r,\frac{1}{\xi}\right) + S(r,f) \\ &= T(r,f) + N\!\left(r,\frac{1}{\xi}\right) + S(r,f). \end{split}$$

Combining the preceding equalities yields

$$T(r, e^{\beta}) = T(r, e^{\gamma}) + S(r, f).$$

On the other hand, it is easy to see that

$$f = e_2 + (e_2 - e_1) \left( \frac{e^{\beta} - 1}{e^{\gamma} - 1} - 1 \right) = e_2 + (e_2 - e_1) \frac{e^{\alpha} - 1}{e^{\gamma} - 1} e^{\gamma},$$

so, by applying the same analysis to  $e^{\alpha} - 1$  and  $e^{\gamma} - 1$ ,

$$T(r, e^{\alpha}) = T(r, e^{\gamma}) + S(r, f).$$

This proves (2.7) and, as a result,  $\rho(e^{\alpha}) = \rho(e^{\beta}) = \rho(e^{\gamma}) = \rho(f)$ .

Next, we will prove that, when  $\mu\nu \neq 0$ ,

$$\deg\left(\mu\beta + \nu\gamma\right) = d. \tag{2.8}$$

On the contrary, suppose that deg  $(\mu\beta + \nu\gamma) < d$ . For brevity, write  $\Xi_1 := e^{\mu\beta + \nu\gamma}$ . Then  $\Xi_1$  is a small function of  $e^{-\alpha}$  by (2.7), so that

$$T(r, \Xi_1 e^{-\mu\alpha}) = T(r, e^{-\mu\alpha}) + S(r, f) = T(r, e^{\mu\alpha}) + S(r, f) = \mu T(r, e^{\alpha}) + S(r, f).$$

On the other hand, using (2.7) again,

$$T(r, \Xi_1 e^{-\mu\alpha}) = T(r, e^{(\mu+\nu)(\beta-\alpha)}) = T(r, e^{(\mu+\nu)\gamma})$$
  
=  $(\mu+\nu)T(r, e^{\gamma}) + S(r, f) = (\mu+\nu)T(r, e^{\alpha}) + S(r, f).$ 

That is, v = 0, which is a contradiction, so that (2.8) is confirmed.

Finally, we will prove that, when  $\mu \nu \neq 0$ ,

$$\deg\left(\mu\beta - \nu\gamma\right) = d. \tag{2.9}$$

On the contrary, suppose that deg  $(\mu\beta - \nu\gamma) < d$ . For brevity, write  $\Xi_2 := e^{\mu\beta - \nu\gamma}$ . Then  $\Xi_2$  is a small function of  $e^{-\alpha}$  by (2.7). If  $\mu \ge \nu$ ,

$$T(r, \Xi_2 e^{-\mu\alpha}) = T(r, e^{-\mu\alpha}) + S(r, f) = T(r, e^{\mu\alpha}) + S(r, f) = \mu T(r, e^{\alpha}) + S(r, f).$$

On the other hand, using (2.7) again,

$$T(r, \Xi_2 e^{-\mu\alpha}) = T(r, e^{(\mu-\nu)(\beta-\alpha)}) = T(r, e^{(\mu-\nu)\gamma})$$
  
=  $(\mu - \nu)T(r, e^{\gamma}) = (\mu - \nu)T(r, e^{\alpha}) + S(r, f).$ 

That is,  $\nu = 0$ , which is a contradiction. If  $\nu \ge \mu$ , we use  $\Xi_2^{-1} = e^{-(\mu\beta - \nu\gamma)}$  instead to observe that

$$T(r, \Xi_2^{-1} e^{v\alpha}) = T(r, e^{v\alpha}) + S(r, f) = v T(r, e^{\alpha}) + S(r, f).$$

On the other hand, using (2.7),

$$T(r, \Xi_2^{-1} e^{\nu \alpha}) = T(r, e^{-(\mu \beta - \nu \gamma)} e^{\nu \alpha}) = T(r, e^{(\nu - \mu)\beta})$$
  
=  $(\nu - \mu)T(r, e^{\beta}) + S(r, f) = (\nu - \mu)T(r, e^{\alpha}) + S(r, f)$ .

That is,  $\mu = 0$ , which is a contradiction again. Hence, (2.9) and thus (2.6) follow.

By definition, we easily notice that

$$T(r, A_{\mu,\nu}) = S(r, e^{\mu\beta + \nu\gamma})$$
 and  $T(r, A_{\mu,\nu}) = S(r, e^{\mu\beta - \nu\gamma})$ 

Thus, by Borel's lemma (see for example [14, Theorem 1.51]), we have  $A_{\mu,\nu} \equiv 0$ . This clearly contradicts (2.5), and so completes the proof.

## Acknowledgement

The authors are greatly indebted to the anonymous referee for several valuable comments.

### References

- [1] G. Brosch, 'Eindeutigkeitssätze für meromorphe funktionen', Dissertation, Technical University of Aachen, 1989.
- [2] Y. Chiang and S. Feng, 'On the Nevanlinna characteristic of  $f(z + \eta)$  and difference equations in the complex plane', *Ramanujan J.* **16** (2008), 105–129.
- [3] L. Gao, 'Some Malmquist type theorems of higher-order partial differential equations on C<sup>m</sup>', Soochow J. Math. 33 (2007), 111–126.
- [4] R. Halburd and R. Korhonen, 'Difference analogue of the lemma on the logarithmic derivative with applications to difference equations', *J. Math. Anal. Appl.* **314** (2006), 477–487.
- [5] R. Halburd, R. Korhonen and K. Tohge, 'Holomorphic curves with shift-invariant hyperplane preimages', *Trans. Amer. Math. Soc.* 366 (2014), 4267–4298.
- [6] J. Heittokangas, R. Korhonen, I. Laine, J. Rieppo and K. Tohge, 'Complex difference equations of Malmquist type', *Comput. Methods Funct. Theory* 1 (2001), 27–39.
- [7] P. Hu and B. Li, 'On meromorphic solutions of nonlinear partial differential equations of first order', J. Math. Anal. Appl. 377 (2011), 881–888.
- [8] P. Hu and B. Li, 'A note on meromorphic solutions of linear partial differential equations of second order', *Complex Anal. Oper. Theory* 8 (2014), 1173–1182.
- [9] P. Hu and C. Yang, 'Malmquist type theorem and factorization of meromorphic solutions of partial differential equations', *Complex Var. Theory Appl.* 27 (1995), 269–285.
- [10] P. Hu and C. Yang, 'Further results on factorization of meromorphic solutions of partial differential equations', *Results Math.* **30** (1996), 310–320.
- [11] Z. Huang, Z. Chen and Q. Li, 'On properties of meromorphic solutions for complex difference equation of Malmquist type', *Acta Math. Sci. Ser. B Engl. Ed.* 33 (2013), 1141–1152.
- [12] I. Laine and C. Yang, 'Clunie theorems for difference and q-difference polynomials', J. Lond. Math. Soc. (2) 76 (2007), 556–566.
- [13] Z. Tu, 'Some Malmquist-type theorems of partial differential equations on  $\mathbb{C}^{n}$ ', J. Math. Anal. Appl. **179** (1993), 41–60.
- [14] C. Yang and H. Yi, Uniqueness Theory of Meromorphic Functions (Kluwer Academic, Dordrecht, 2003).
- [15] J. Zhang and L. Liao, 'On Malmquist type theorem of complex difference equations', *Houston J. Math.* 39 (2013), 969–981.

FENG LÜ, College of Science, China University of Petroleum, Qingdao, Shandong 266580, PR China e-mail: lvfeng18@gmail.com

QI HAN, Department of Mathematics, Worcester Polytechnic Institute, Worcester, MA 01609, USA e-mail: qhan@wpi.edu

WEIRAN LÜ, College of Science, China University of Petroleum, Qingdao, Shandong 266580, PR China e-mail: uplvwr@yahoo.com.cn